

①  $\int \frac{\sin^3 x}{\cos^3 x} dx = \int \frac{\sin^2 x \cdot \sin x}{\cos^3 x} dx = \int \frac{1-t^2}{t \cdot t^{1/3}} dt = - \int \frac{1-t^2}{t^{4/3}} dt = - \int \frac{dt}{t^{4/3}} + \int \frac{t^2 dt}{t^{4/3}}$

$\frac{1}{Q(\sin x, \cos x)} = \frac{1}{\cos^3 x}$       $\frac{P(\sin x, \cos x)}{Q(\sin x, \cos x)} = \frac{\sin^3 x}{\cos^3 x}$

$\frac{1}{Q(\sin x, \cos x)} = \frac{t^{-1/3}}{-1/3} + \frac{t^{5/3}}{5/3} + C = 3\sqrt[3]{t} + \frac{3}{5}\sqrt[3]{t^5} + C = \frac{3}{\sqrt[3]{\cos x}} + \frac{3}{5}\sqrt[3]{\cos^5 x} + C$

ca u'povracaj      $\int \frac{dx}{\cos^3 x} = \int \frac{dx}{\cos^2 x} \cdot \frac{1}{\cos x} = \int \frac{dx}{\cos^2 x} \cdot \frac{1}{\sin x}$

zaca      $\int \frac{P(\sin x, \cos x)}{Q(\sin x, \cos x)} dx$       $P$  u  $Q$  razlikujuće uaprosu u  $\sin x \Rightarrow t = \cos x$

$\int \frac{P(\sin x, \cos x)}{Q(\sin x, \cos x)} dx$       $P$  u  $Q$  —||— u  $\cos x \Rightarrow t = \sin x$

②  $\int \frac{\sin^4 x}{\cos^4 x} dx = \int \frac{\sin^2 x \cdot \sin^2 x}{\cos^4 x} dx = \int \frac{t^2 (1-t^2)^2}{(1+t^2)^2} dt$

$\frac{1}{Q(\sin x, \cos x)} \rightarrow$  uaprosu u  $\sin x$  u  $\cos x \Rightarrow$  ketu u prethodne smene

$t = \tan x$   
 $dt = \frac{dx}{\cos^2 x}$

$t^2 = \frac{\sin^2 x}{\cos^2 x} = \frac{\sin^2 x}{1-\sin^2 x}$   
 $\sin^2 x = \frac{t^2}{1+t^2}$

$= \int \frac{t^2 (1-t^2)^2}{(1+t^2)^2} dt = \int \frac{t^2 (1-t^2+1-t^2)}{1+t^2} dt = \int (t^2 - 1 + \frac{1}{1+t^2}) dt = \frac{t^3}{3} - t + \arctg t + C = \frac{\tan^3 x}{3} - \tan x + \arctg(\tan x) + C$

$\neq x, x \in \mathbb{R}$   
 ako ako  $x \in (-\frac{\pi}{2}, \frac{\pi}{2})$

③  $\int \frac{dx}{\sin^2 x + \cos^4 x} = \int \frac{dx}{1 - \frac{1}{2} \sin^2 2x} = \int \frac{dx}{1 - \frac{1}{2} \frac{1-\cos 4x}{2}} = \int \frac{dx}{1 - \frac{1-\cos 4x}{4}} = \int \frac{dx}{\frac{3+\cos 4x}{4}} = \int \frac{4 dx}{3+\cos 4x}$

$t = \tan 2x$   
 $dt = \frac{2 dx}{\cos^2 2x}$   
 $x = \frac{1}{2} \arctg t + C$   
 $\rightarrow dx = \frac{1}{2} \frac{dt}{1+t^2}$

$\sin^2 2x = \frac{t^2}{1+t^2}$

$= \int \frac{2 dt}{2(1+t^2) - t^2} = \int \frac{2 dt}{2+t^2} = \frac{2}{\sqrt{2}} \arctg \frac{t}{\sqrt{2}} + C = \frac{1}{\sqrt{2}} \arctg \frac{\tan 2x}{\sqrt{2}} + C$

④  $\int \frac{dx}{1+\cos x} = \int \frac{dx}{1 + \frac{1+\cos 2x}{2}} = \int \frac{2 dx}{2+1+\cos 2x} = \int \frac{2 dx}{3+\cos 2x}$

$t = \tan \frac{x}{2}$   
 $dx = 2 \frac{dt}{1+t^2}$

$\cos x = \frac{1-t^2}{1+t^2}$   
 $\cos^2 x = \frac{1-t^2}{1+t^2}$   
 $\sin^2 x = \frac{t^2}{1+t^2}$   
 $\cos 2x = \cos^2 x - \sin^2 x = \frac{1-t^2}{1+t^2} - \frac{t^2}{1+t^2} = \frac{1-2t^2}{1+t^2}$

$$= 2 \int \frac{\frac{dt}{1+t^2}}{1+a \frac{1-t^2}{1+t^2}} = 2 \int \frac{dt}{1+t^2+a-at^2} = 2 \int \frac{dt}{(1+a)+(1-a)t^2} = I_a$$

1°  $a = -1$

$$I_a = I_{-1} = 2 \int \frac{dt}{2t^2} = -\frac{1}{t} + C = -\frac{1}{\operatorname{tg}^{2/2}} + C = -\operatorname{ctg}^{2/2} + C$$

2°  $a = 1$

$$I_a = 2 \int \frac{dt}{2} = t + C = \operatorname{tg}^{2/2} + C$$

3°  $a < -1$

$$I_a = 2 \int \frac{dt}{(1+a)+(1-a)t^2} = \frac{2}{(1-a)} \int \frac{dt}{t^2 - \frac{1+a}{1-a}}$$

$\frac{1+a}{1-a} = \frac{1}{\lambda^2}$

$$= \frac{2}{1-a} \cdot \frac{1}{\lambda} \int \frac{dt}{\left(\frac{t}{\lambda}\right)^2 - 1} =$$

$$= \frac{2}{1-a} \cdot \frac{1}{\lambda} \cdot \frac{1}{2} \ln \left| \frac{1 - \frac{t}{\lambda}}{1 + \frac{t}{\lambda}} \right| + C$$

$\lambda = \sqrt{\frac{1+a}{1-a}}$

$t = \operatorname{tg}^{2/2}$

4°  $-1 < a < 1$

$$I_a = 2 \int \frac{dt}{(1+a)+(1-a)t^2} = \frac{2}{1-a} \int \frac{dt}{\frac{1+a}{1-a} + t^2} = \frac{2}{1-a} \cdot \frac{1}{\sqrt{\frac{1+a}{1-a}}} \operatorname{arctg} \sqrt{\frac{1+a}{1-a}} t + C$$

$t = \operatorname{tg}^{2/2}$

5°  $a > 1$

$$I_a = 2 \int \frac{dt}{(1+a)+(1-a)t^2} = -2 \int \frac{dt}{(a-1)t^2 - (1+a)} = -\frac{2}{1-a} \cdot \frac{1}{a+1} \cdot \frac{1}{2} \ln \left| \frac{1 - \frac{t}{\lambda}}{1 + \frac{t}{\lambda}} \right| + C$$

⑤  $\int \frac{dx}{1+\sin x - \cos x} =$

$t = \operatorname{tg}^{x/2} \rightarrow dx = 2 \frac{dt}{1+t^2}$

$$\sin x = \frac{2 \sin^{x/2} \cos^{x/2}}{\cos^{x/2}} = \frac{2 \operatorname{tg}^{x/2}}{1 + \operatorname{tg}^{2x/2}}$$

$$\cos^2 x/2 = \frac{1}{1 + \operatorname{tg}^{2x/2}}$$

$$\cos x = \frac{1 - \operatorname{tg}^{2x/2}}{1 + \operatorname{tg}^{2x/2}} = \frac{1-t^2}{1+t^2}$$

$$= 2 \int \frac{\frac{dt}{1+t^2}}{1 + \frac{2t}{1+t^2} - \frac{1-t^2}{1+t^2}} = 2 \int \frac{dt}{1+t^2+2t-1+t^2} = 2 \int \frac{dt}{2t^2+2t} = \int \frac{dt}{t(t+1)} =$$

$$= \int \left( \frac{1}{t} - \frac{1}{t+1} \right) dt = \ln |t| - \ln |t+1| + C = \ln \left| \frac{t}{t+1} \right| + C$$

$t = \operatorname{tg}^{x/2}$

⑥  $\int \frac{\sqrt{\operatorname{tg} x}}{\sin x \cos x} dx =$

$\operatorname{tg} x > 0 \rightarrow \frac{\sin x}{\cos x} > 0 \Rightarrow \sin x \cdot \cos x > 0$

$$\sin^2 x = \frac{\operatorname{tg}^2 x}{1 + \operatorname{tg}^2 x}, \quad \cos^2 x = \frac{1}{1 + \operatorname{tg}^2 x} \rightarrow \sin x = \frac{\operatorname{tg} x}{\sqrt{1 + \operatorname{tg}^2 x}}, \quad \cos x = \frac{1}{\sqrt{1 + \operatorname{tg}^2 x}}$$

$$\int \sin x \cdot \cos x = \frac{\operatorname{tg} x}{\sqrt{1+\operatorname{tg}^2 x} \sqrt{1+\operatorname{tg}^2 x}} = \frac{\operatorname{tg} x}{1+\operatorname{tg}^2 x}$$

$$t = \operatorname{tg} x \rightarrow x = \operatorname{arctg} t + C$$

$$dx = \frac{dt}{1+t^2}, \quad t > 0$$

$$= \int \frac{\sqrt{t} \frac{dt}{1+t^2}}{\frac{t}{1+t^2}} = \int \frac{dt}{\sqrt{t}} = \frac{t^{1/2}}{1/2} + C = 2\sqrt{t} + C = 2\sqrt{\operatorname{tg} x} + C$$

• За бешды  $\int \frac{dx}{\sin^4 x \cos^2 x}$

\* Укшэірауыя ўраўноўаных фја

•  $\int R(x, \sqrt{ax^2+bx+c}) dx$ , R-раўноўанна фја

$$\sqrt{ax^2+bx+c} = \begin{cases} \sqrt{at^2+d}, & d > 0, a < 0 \\ \sqrt{a^2t^2+u}, & d > 0, a > 0 \end{cases}$$

$$\begin{cases} \sqrt{\lambda^2-u^2}, & u \in [-\lambda, \lambda] \\ \sqrt{u^2-\lambda^2}, & u \in \mathbb{R} \setminus (-\lambda, \lambda) \end{cases}$$

**I**  $\int R(x, \sqrt{\lambda^2-x^2}) dx$ ,  $x \in (-\lambda, \lambda)$ ,  $x = \lambda \sin t$ ,  $t \in (-\frac{\pi}{2}, \frac{\pi}{2})$ ,  $\cos t > 0$

$$\sqrt{\lambda^2-x^2} = \sqrt{\lambda^2-\lambda^2 \sin^2 t} = \sqrt{\lambda^2 \cos^2 t} = \lambda |\cos t| = \lambda \cos t$$

$$dx = \lambda \cos t dt$$

$$= \int R(\sin t, \cos t) \lambda \cos t dt$$

①  $\int \sqrt{\lambda^2-x^2} dx = \int_{t = \arcsin \frac{x}{\lambda}}^{x = \lambda \sin t, t \in (-\frac{\pi}{2}, \frac{\pi}{2})} \lambda \cos t \cdot \lambda \cos t dt = \lambda^2 \int \cos^2 t dt$

$$= \lambda^2 \int \frac{1+\cos 2t}{2} dt = \lambda^2 \frac{t}{2} + \frac{1}{4} \lambda^2 \sin 2t + C =$$

$$= \lambda^2 \frac{\arcsin \frac{x}{\lambda}}{2} + \frac{1}{4} \lambda^2 \sin 2(\arcsin \frac{x}{\lambda}) + C$$

②  $\int \frac{dx}{x^2 \sqrt{4-x^2}} = \int_{x=2 \sin t, t \in (-\frac{\pi}{2}, \frac{\pi}{2})}^{x=2, t = \arcsin \frac{x}{2}} \frac{2 \cos t dt}{4 \sin^2 t \cdot 2 \cos t} = \frac{1}{4} \int \frac{dt}{\sin^2 t} = -\frac{1}{4} \operatorname{ctg} t + C$

$$= -\frac{1}{4} \operatorname{ctg}(\arcsin \frac{x}{2}) + C$$

③  $\int \frac{3x+2}{\sqrt{3-4x-x^2}} dx = \int \frac{3u-4}{\sqrt{7-u^2}} du$

$$= \int \frac{3\sqrt{7} \sin t - 4}{\sqrt{7} \cos t} \sqrt{7} \cos t dt$$

$$= \int \frac{3\sqrt{7} \sin t - 4}{\sqrt{7} \cos t} \sqrt{7} \cos t dt$$

$$= \int (3\sqrt{3} \sin t - 4) dt = 3\sqrt{3} \cos t - 4t + c = \dots$$

\* Χωρίς επόνομα φje

$\sin x, \cos x$ :

$$\sin^2 x + \cos^2 x = 1$$

$$(\sin x)' = \cos x$$

$$(\cos x)' = -\sin x$$

$$\sin(x+y) = \sin x \cos y + \cos x \sin y$$

$$\cos(x+y) = \cos x \cos y - \sin x \sin y$$

$\arcsin x, \arccos x \rightarrow$  "υποβελτιξη"  $\sin x$  u  $\cos x$

$$(e^x)' = e^x$$

$$\operatorname{sh} x = \frac{e^x - e^{-x}}{2}$$

$$\operatorname{ch} x = \frac{e^x + e^{-x}}{2}$$

$$\left. \begin{array}{l} (\operatorname{sh} x)' = \operatorname{ch} x \\ (\operatorname{ch} x)' = \operatorname{sh} x \end{array} \right\}$$

$$\left. \begin{array}{l} (\operatorname{sh} x)' = \operatorname{ch} x \\ (\operatorname{ch} x)' = \operatorname{sh} x \end{array} \right\}$$

$$\operatorname{sh}^2 x = \frac{e^{2x} + e^{-2x} - 2}{4}$$

$$\operatorname{ch}^2 x = \frac{e^{2x} + e^{-2x} + 2}{4}$$

$$\left. \begin{array}{l} \operatorname{sh}^2 x = \frac{e^{2x} + e^{-2x} - 2}{4} \\ \operatorname{ch}^2 x = \frac{e^{2x} + e^{-2x} + 2}{4} \end{array} \right\} \Rightarrow \operatorname{ch}^2 x - \operatorname{sh}^2 x = 1$$

$$\operatorname{sh}(x+y) = \operatorname{sh} x \operatorname{ch} y + \operatorname{ch} x \operatorname{sh} y \quad \left\{ \begin{array}{l} \text{υποβελτιξη} \\ \text{za beta} \end{array} \right.$$

$$\operatorname{ch}(x+y) = \operatorname{ch} x \operatorname{ch} y + \operatorname{sh} x \operatorname{sh} y$$

$\operatorname{sh}: \mathbb{R} \rightarrow \mathbb{R}$

$$y = \operatorname{sh} x = \frac{e^x - e^{-x}}{2} = \frac{e^{-x}}{2} \cdot (e^{2x} - 1)$$

$$2e^x \cdot y = e^{2x} - 1 \rightarrow e^{2x} - 2e^x \cdot y - 1 = 0$$

$$t = e^x > 0 \rightarrow t^2 - 2y \cdot t - 1 = 0 \Rightarrow t_{1,2} = \frac{2y \pm \sqrt{4y^2 + 4}}{2} = y \pm \sqrt{y^2 + 1}$$

$$\Rightarrow t = y + \sqrt{y^2 + 1} = e^x$$

$$y = \operatorname{sh} x \Rightarrow x = \ln(y + \sqrt{y^2 + 1}) = \operatorname{arsh} x$$

$\operatorname{arsh}: \mathbb{R} \rightarrow \mathbb{R}$

$$\int \frac{dt}{\sqrt{1+t^2}} = \ln |t + \sqrt{t^2 + 1}| + c = \operatorname{arsh} t$$

$\operatorname{ch}: \mathbb{R} \rightarrow [1, +\infty)$

$$y = \operatorname{ch} x = \frac{e^x + e^{-x}}{2} \geq \sqrt{e^x \cdot e^{-x}} = 1$$

$\operatorname{ch}$  ηυje 1-1 ηα  $\mathbb{R}$

$$\operatorname{ch} x = \operatorname{ch}(-x) \rightarrow \text{υοπηηα}$$

$\operatorname{ch}: [0, +\infty) \rightarrow [1, +\infty) \rightarrow$  δυνητικη υλη,  $\operatorname{arch}: [1, +\infty) \rightarrow [0, +\infty)$

$$\operatorname{sh}(-x) = -\operatorname{sh} x \rightarrow \text{ηελοπηηα} \quad \operatorname{arch} y = \ln(y + \sqrt{y^2 - 1})$$

$$\int \frac{dt}{\sqrt{t^2 - 1}} = \ln |t + \sqrt{t^2 - 1}| + c = \operatorname{arch} t + c$$

$$y = \operatorname{ch} x \\ x = \operatorname{arch} y$$